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QUESTION 1

You have a StorageGRID solution with 1 PB of object data. All data is geographically distributed and erasure coded
across three sites. You are asked to create a new information lifecycle management (ILM) policy that will keep a full
copy of the grid in Amazon S3. 

In this scenario, which component must be configured for the ILM policy? 

A. archive node 

B. additional 1 PB license 

C. Cloud Storage Pool 

D. Cassandra database 

Correct Answer: A 

 

QUESTION 2

Your customer is using Astra Control Service to back up applications. They require a consistent copy of the data that
also captures data in flight. 

Which two applications will Astra support in this scenario? (Choose two.) 

A. ksqIDB 

B. Jenkins 

C. Argo CD 

D. PostgreSQL 

Correct Answer: AB 

 

QUESTION 3

Which DevOps principle implies that your documentation and your configuration are the same? 

A. infrastructure as code 

B. continuous testing 

C. continuous deployment 

D. continuous monitoring 

Correct Answer: D 
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QUESTION 4

Your company uses all four of NetApp\\'s storage offerings: ONTAP, StorageGRID, Element, and E-Series. You are
asked to provide persistent storage to the OpenShift group by using NFS. 

In this scenario, which of the available storage deployments would provide access? 

A. StorageGRID 

B. ONTAP Select 

C. E-Series 

D. Element 

Correct Answer: C 

 

QUESTION 5

You are using Nvidia DeepOps to deploy Kubernetes clusters on top of NetApp ONTAP AI systems. In this scenario,
which automation engine is required? 

A. Ansible 

B. Puppet 

C. Jenkins 

D. Terraform 

Correct Answer: A 
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